



ISSN 2231-346X

(Print)

JUSPS-A Vol. 29(12), 530-540 (2017). Periodicity-Monthly

**Section A**

(Online)



ISSN 2319-8044



Estd. 1989

**JOURNAL OF ULTRA SCIENTIST OF PHYSICAL SCIENCES**  
 An International Open Free Access Peer Reviewed Research Journal of Mathematics  
 website:- [www.ultrascientist.org](http://www.ultrascientist.org)

**A note on absolute indexed Riesz Summability factor**B.P. PADHY<sup>1\*</sup>, P. TRIPATHY<sup>2</sup>, B.B. MISHRA<sup>3</sup> and U.K. MISRA<sup>4</sup>

<sup>1,2,3</sup>Department of Mathematics, School of Applied Sciences, KIIT University,  
 Bhubaneswar, Odisha, (India)

<sup>4</sup>Department of Mathematics, National Institute of Science and Technology,  
 Pallur Hills, Berhampur, Odisha, (India)

Corresponding author E mail ID: [iraady@gmail.com](mailto:iraady@gmail.com),  
<http://dx.doi.org/10.22147/jusps-A/291202>

Acceptance Date 25th October, 2017,      Online Publication Date 2nd December, 2017

**Abstract**

In this paper we have established  $\left| \overline{N}, p_n, \alpha_n(\delta), \mu \right|_k$ ,  $k \geq 1, \delta \geq 0$ , summability factor using  $f$ -power increasing sequence. by extending the result of Paikray *et al.*, who have proved  $\left| \overline{N}, p_n; \delta \right|_k$ ,  $k \geq 1, \delta \geq 0$ , summability factor of an infinite series using  $f$ -power increasing sequence.

**Key words :** Quasi-increasing; quasi- $f$ -power increasing; indexed absolute Summability; summability factor.

**2010 Mathematics subject classification:** 40A05, 40D15, 40F05

**1. Introduction**

A sequence  $(a_n)$  of positive numbers is said to be almost increasing if there exists a positive sequence  $(b_n)$  and two positive constants  $A$  and  $B$  such that

$$Ab_n \leq a_n \leq Bb_n, \text{ for all } n \in N. \quad (1.1)$$

For  $0 < \beta < 1$ , it is said to be quasi- $\beta$ -power increasing, if there exists a constant  $K$  depending upon  $\beta$  with  $K \geq 1$  such that

$$K n^\beta a_n \geq m^\beta a_m, \text{ for all } n \geq m. \quad (1.2)$$

In particular if  $\beta = 0$ , then  $(a_n)$  is a quasi-increasing sequence. It is clear that for any non-negative  $\beta$ , every almost increasing sequence is a quasi- $\beta$ -power increasing sequence. But the converse is not true in general, as is  $(n^{-\beta})$  quasi- $\beta$ -power increasing but not almost increasing.

Let  $f = (f_n)$  be a positive sequence of numbers. Then the positive sequence  $(a_n)$  is said to be quasi- $f$ -power increasing, if there exists a constant  $K$  depending upon  $f$  with  $K \geq 1$  such that

$$K f_n a_n \geq f_m a_m \quad (1.3)$$

for  $n \geq m \geq 1$ . Clearly, if  $(a_n)$  is a quasi- $f$ -power increasing sequence, then  $(a_n f_n)$  is also a quasi-increasing sequence.

Let  $\sum a_n$  be an infinite series with sequence of partial sums  $\{s_n\}$ . Let  $(p_n)$  be a sequence of positive numbers such that

$$P_n = \sum_{v=0}^n p_v \rightarrow \infty, \text{ as } n \rightarrow \infty.$$

Then the sequence-to-sequence transformation

$$T_n = \frac{1}{P_n} \sum_{v=0}^n p_v s_v, \quad P_n \neq 0, \quad (1.4)$$

defines the  $(\overline{N}, p_n)$ -mean of the sequence  $(s_n)$  generated by the sequence of coefficients  $(p_n)$ . The series

$\sum a_n$  is said to be summable  $|\overline{N}, p_n|_k$ ,  $k \geq 1$ , if

$$\sum_{n=1}^{\infty} \left( \frac{P_n}{p_n} \right)^{k-1} |T_n - T_{n-1}|^k < \infty. \quad (1.5)$$

The  $\sum a_n$  series is said to be summable  $|\overline{N}, p_n; \delta|_k$ ,  $k \geq 1, \delta \geq 0$ , if

$$\sum_{n=1}^{\infty} \left( \frac{P_n}{p_n} \right)^{\delta k + k - 1} |T_n - T_{n-1}|^k < \infty. \quad (1.6)$$

Putting  $\delta = 1$ , the summability method  $|\overline{N}, p_n; \delta|_k$ ,  $k \geq 1, \delta \geq 0$  reduces to the summability method

$|\overline{N}, p_n; \delta|_k$ ,  $k \geq 1$ .

The series  $\sum a_n$  is said to be summable  $|\overline{N}, p_n, \alpha_n(\delta)|_k$ ,  $k \geq 1, \delta \geq 0$ , if

$$\sum_{n=1}^{\infty} (\alpha_n)^k \left( \frac{P_n}{p_n} \right)^{k-1} |T_n - T_{n-1}|^k < \infty. \quad (1.7)$$

Putting  $\alpha_n = \left(\frac{P_n}{p_n}\right)^\delta$ , the summability method  $\left|\overline{N}, p_n, \alpha_n(\delta)\right|_k, k \geq 1, \delta \geq 0$  reduces to the summability method  $\left|\overline{N}, p_n; \delta\right|_k, k \geq 1, \delta \geq 0$

For any real number  $\mu$ , the series  $\sum a_n$  is said to be summable by the summability method  $\left|\overline{N}, p_n, \alpha_n(\delta), \mu\right|_k, k \geq 1, \delta \geq 0$ , if

$$\sum_{n=1}^{\infty} (\alpha_n)^{k\mu} \left(\frac{P_n}{p_n}\right)^{\mu(k-1)} |T_n - T_{n-1}|^k < \infty. \quad (1.8)$$

Putting  $\mu = 1$ , the summability method  $\left|\overline{N}, p_n, \alpha_n(\delta), \mu\right|_k$  reduces to the summability method  $\left|\overline{N}, p_n, \alpha_n(\delta)\right|_k$ .

## 2. Known Theorems :

Dealing with quasi- $\beta$ -power increasing sequence Bor and Debnath<sup>2</sup> have established the following theorem:

### Theorem 2.1:

Let  $(X_n)$  be a quasi- $\beta$ -power increasing sequence for  $0 < \beta < 1$  and  $(\lambda_n)$  be a real sequence. If the conditions

$$\sum_{n=1}^m \frac{P_n}{n} = O(P_m), \quad (2.1.1)$$

$$\lambda_n X_n = O(1) \quad (2.1.2)$$

$$\sum_{n=1}^m \frac{|t_n|^k}{n} = O(X_m) \quad (2.1.3)$$

$$\sum_{n=1}^m \frac{P_n |t_n|^k}{P_n} = O(X_m) \quad (2.1.4)$$

and

$$\sum_{n=1}^m n X_n |\Delta^2 \lambda_n| < \infty \quad (2.1.5)$$

are satisfied, where  $t_n$  is the  $(C, 1)$  mean of the sequence  $(na_n)$ , then the series  $\sum a_n \lambda_n$  is summable

$\left| \overline{N}, p_n \right|_k, k \geq 1$ ., where  $t_n$  is the  $(C, 1)$  mean of the sequence  $(na_n)$ .

Subsequently Leinder<sup>3</sup> established a similar result reducing certain conditions of Bor and Debnath<sup>2</sup>. He established:

*Theorem 2.2:*

Let the sequence  $(X_n)$  be a quasi- $\beta$ -power increasing sequence for  $0 < \beta < 1$ , and  $(\lambda_n)$  be a real sequence satisfying the conditions

$$\sum_{n=1}^m \lambda_n = O(m) \quad (2.2.1)$$

and

$$\sum_{n=1}^m |\Delta \lambda_n| = O(m). \quad (2.2.2)$$

Further, suppose the conditions (2.1.3), (2.1.4) and

$$\sum_{n=1}^m n X_n(\beta) \|\Delta \lambda_n\| < \infty, \quad (2.2.3)$$

hold, where  $X_n(\beta) = \max(n^\beta X_n, \log n)$ . Then the series  $\sum a_n \lambda_n$  is summable  $\left| \overline{N}, p_n \right|_k, k \geq 1$ .

Extending the above results to quasi- $f$ -power increasing sequence, Sulaiman<sup>6</sup> has established the following theorem:

*Theorem 2.3:*

Let  $f = (f_n) = (n^\beta \log^\gamma n)$ ,  $0 \leq \beta < 1, \gamma \geq 0$  be a sequence. Let  $(X_n)$  be a quasi- $f$ -power sequence and  $(\lambda_n)$  a sequence of constants satisfying the conditions

$$\lambda_n \rightarrow 0 \text{ as } n \rightarrow \infty, \quad (2.3.1)$$

$$\sum_{n=1}^{\infty} n X_n \|\Delta \lambda_n\| < \infty, \quad (2.3.2)$$

$$|\lambda_n| X_n = O(1), \quad (2.3.3)$$

$$\sum_{n=1}^{\infty} \frac{1}{n X_n^{k-1}} |t_n|^k = O(X_m), \quad (2.3.4)$$

and

$$\sum_{n=1}^{\infty} \frac{p_n}{P_n} \frac{1}{X_n^{k-1}} |t_n|^k = O(X_m), \quad (2.3.5)$$

where  $t_n$  is the  $(C, 1)$  mean of the sequence  $(na_n)$ . Then the series  $\sum a_n \lambda_n$  is summable  $\left| \overline{N}, p_n \right|_k, k \geq 1$

Recently Paikray *et al.*<sup>4</sup> established the following theorem:

*Theorem 2.4:*

Let  $f = (f_n) = (n^\beta \log^\gamma n)$  be a sequence and  $(X_n)$  be a quasi- $f$ -power sequence. Let  $(\lambda_n)$  a sequence of constants such that

$$\lambda_n \rightarrow 0, \text{ as } n \rightarrow \infty, \quad (2.4.1)$$

$$\sum_{n=1}^{\infty} n X_n |\Delta \lambda_n| < \infty, \quad (2.4.2)$$

$$|\lambda_n| X_n = O(1), \quad (2.4.3)$$

$$\sum_{n=\nu+1}^m \left( \frac{P_n}{p_n} \right)^{\delta k-1} \frac{1}{P_{n-1}} = O \left( \frac{P_m}{p_m} \right)^{\delta k-1}, \quad (2.4.4)$$

$$\sum_{n=1}^{\infty} \left( \frac{P_n}{p_n} \right)^{\delta k-1} \frac{|t_n|^k}{X_n^{k-1}} = O(X_m), \quad (2.4.5)$$

$$\sum_{n=1}^{\infty} \left( \frac{P_n}{p_n} \right)^{\delta k} \frac{|t_n|^k}{n X_n^{k-1}} = O(X_m). \quad (2.4.6)$$

Then the series  $\sum a_n \lambda_n$  is summable  $\left| \overline{N}, p_n; \delta \right|_k, k \geq 1, \delta \geq 0$ .

In the mean time Bor<sup>1</sup> has established the following theorem:

*Theorem 2.5:*

Let  $\lambda_n \in BV$ . Let  $(X_n)$  be quasi- $(\sigma, \gamma)$ -power increasing sequence,  $\gamma \geq 0, 0 < \sigma < 1$  and there be sequences  $(\beta_n)$  and  $(\lambda_n)$  such that

$$|\Delta \lambda_n| \leq \beta_n \quad (2.5.1)$$

$$\beta_n \rightarrow 0, \text{ as } n \rightarrow \infty, \quad (2.5.2)$$

$$\sum_{n=1}^{\infty} n X_n |\Delta \beta_n| < \infty \quad (2.5.3)$$

$$|\lambda_n| X_n = O(1) \quad (2.5.4)$$

If  $(p_n)$  is a sequence such that

$$P_n = O(np_n) \quad (2.5.5)$$

$$P_n \Delta p_n = O(P_n P_{n-1}) \quad (2.5.6)$$

$$\sum_{n=1}^m \left( \frac{P_n}{p_n} \right)^{\delta k} \frac{|t_n|^k}{n} = O(X_m), \text{ as } m \rightarrow \infty, \quad (2.5.7)$$

$$\sum_{n=1}^m \left( \frac{P_n}{p_n} \right)^{\delta k-1} \frac{1}{P_{n-1}} = O \left( \left( \frac{P_v}{p_v} \right)^{\delta k-1} \frac{1}{P_v} \right), \text{ as } m \rightarrow \infty. \quad (2.5.8)$$

Then the series  $\sum a_n \frac{P_n}{p_n} \lambda_n$  is summable  $\left| \bar{N}, p_n; \delta \right|_k, k \geq 1, \frac{1}{k} > \delta \geq 0$ .

In what follows in this paper, using quasi- $f$ -power increasing sequence and the reference cited in<sup>5</sup>, we prove the following new result on  $\left| \bar{N}, p_n, \alpha_n(\delta), \mu \right|_k, k \geq 1, \delta \geq 0$  summability:

### 3. Main theorem:

*Theorem 3.1:*

Let  $f = (f_n) = (n^\beta (\log n)^\gamma)$  be a sequence and  $(X_n)$  be a quasi- $f$ -power increasing sequence. Let  $(\lambda_n)$  be a sequence of constants such that

$$\lambda_n \rightarrow 0, \text{ as } n \rightarrow \infty, \quad (3.1.1)$$

$$\sum_{n=1}^{\infty} n X_n \|\Delta \lambda_n\| < \infty \quad (3.1.2)$$

$$|\lambda_n| X_n = O(1), \quad (3.1.3)$$

$$\sum_{n=v+1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{1}{P_{n-1}^k} = O \left( (\alpha_m)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \right), \quad (3.1.4)$$

$$\sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{|t_n|^k}{X_n^{k-1}} = O(X_m), \quad (3.1.5)$$

$$\sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)} \frac{|t_n|^k}{n X_n^{k-1}} = O(X_m), \quad (3.1.6)$$

where  $(t_n)$  is the  $n$  th  $(C, 1)$  mean of the sequence  $(na_n)$ .

Then the series  $\sum a_n \lambda_n$  is summable  $|\overline{N}, p_n, \alpha_n(\delta), \mu|_k, k \geq 1, \delta \geq 0$ .

In order to prove the theorem, we require the following lemma.

4. Lemma:

Lemma 4.1[3]:

Let  $f = (f_n) = (n^\beta (\log n)^\gamma), 0 \leq \beta < 1, \gamma \geq 0$ , be a sequence and  $(X_n)$  be a quasi  $f$ -power increasing sequence, then

$$n X_n \Delta \lambda_n = O(1) \quad (4.1.1)$$

and

$$\sum_{n=1}^m X_n \Delta \lambda_n < \infty, \text{ as } m \rightarrow \infty. \quad (4.1.2)$$

5. Proof of the Theorem 3.1:

Let  $(T_n)$  be the sequence of  $(\overline{N}, p_n)$  mean of the series  $\sum_{n=1}^{\infty} a_n \lambda_n$ . Then

$$\begin{aligned} T_n &= \frac{1}{P_n} \sum_{v=0}^n p_v \sum_{r=0}^v a_r \lambda_r \\ &= \frac{1}{P_n} \sum_{v=0}^n (P_n - P_{v-1}) a_v \lambda_v \end{aligned}$$

Hence for  $n \geq 1$

$$\begin{aligned} T_n - T_{n-1} &= \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} a_v \lambda_v \\ &= \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^n v a_v \left( \frac{1}{v} P_{v-1} \lambda_v \right) \\ &= \frac{(n+1)}{n} \frac{P_n}{P_n} t_n \lambda_n + \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_{v-1} t_v \lambda_v \frac{v+1}{v} + \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v t_v \frac{v+1}{v} \Delta \lambda_v \\ &\quad + \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} P_v t_v \frac{\lambda_{v+1}}{v} \\ &= T_{n1} + T_{n2} + T_{n3} + T_{n4} \text{ (say).} \end{aligned}$$

In order to prove the theorem, using Minkowski's inequality it is enough to show that

$$\sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{\mu(k-1)} |T_{n,j}| < \infty, j = 1, 2, 3, 4.$$

Applying Hölder's inequality, we have

$$\begin{aligned} & \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{\mu(k-1)} |T_{n,1}|^k \\ &= \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{\mu(k-1)} \left| \frac{(n+1)P_n}{np_n} t_n \lambda_n \right|^k \\ &= O(1) \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{|t_n|^k}{X_n^{k-1}} (X_n |\lambda_n|)^{k-1} |\lambda_n| \\ &= O(1) \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{|t_n|^k}{X_n^{k-1}} |\lambda_n| \\ &= O(1) \sum_{n=1}^{m-1} \left( \sum_{v=1}^n (\alpha_v)^{k\mu} \left( \frac{P_v}{p_v} \right)^{(\mu-1)(k-1)-1} \frac{|t_v|^k}{X_v^{k-1}} \right) \Delta |\lambda_n| + O(1) \left( \sum_{v=1}^m (\alpha_v)^{k\mu} \left( \frac{P_v}{p_v} \right)^{(\mu-1)(k-1)-1} \frac{|t_v|^k}{X_v^{k-1}} \right) |\lambda_m| \\ &= O(1) \sum_{n=1}^{m-1} X_n \Delta |\lambda_n| + O(1) X_m |\lambda_m| \\ &= O(1) \end{aligned}$$

Next,

$$\begin{aligned} & \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{\mu(k-1)} |T_{n,2}|^k \\ &= \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{\mu(k-1)} \left| \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} p_{v-1} t_v \lambda_v \frac{(v+1)}{v} \right|^k \\ &= O(1) \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{1}{P_{n-1}} \sum_{v=1}^{n-1} p_{v-1} |t_v|^k |\lambda_v|^k \left( \frac{1}{P_{n-1}} \sum_{v=1}^{n-1} p_v \right)^{k-1} \end{aligned}$$



$$= O(1) \sum_{v=1}^m p_{v-1} |t_v|^k |\lambda_v|^k \sum_{n=v+1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{1}{P_{n-1}}$$

$$= O(1) \sum_{v=1}^m (\alpha_v)^{k\mu} \left( \frac{P_v}{p_v} \right)^{(\mu-1)(k-1)-1} |t_v|^k |\lambda_v|^k$$

$$= O(1).$$

Again,

$$\begin{aligned} & \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{\mu(k-1)} |T_{n,3}|^k \\ &= \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{\mu(k-1)} \left| \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} p_v t_v \frac{(v+1)}{v} \Delta \lambda_v \right|^k \\ &= O(1) \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{1}{P_{n-1}^k} \sum_{v=1}^{n-1} p_v^k \frac{|t_v|^k}{X_v^{k-1}} |\Delta \lambda_v| \left( \sum_{v=1}^{n-1} X_v |\Delta \lambda_v| \right)^{k-1} \\ &= O(1) \sum_{v=1}^{n-1} p_v^k \frac{|t_v|^k}{X_v^{k-1}} |\Delta \lambda_v| \sum_{n=v+1}^{m+1} (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{1}{P_{n-1}^k} \\ &= O(1) \sum_{v=1}^m (\alpha_v)^{k\mu} \left( \frac{P_v}{p_v} \right)^{(\mu-1)(k-1)} \frac{|t_v|^k}{v X_v^{k-1}} (v |\Delta \lambda_v|) \\ &= O(1) \sum_{v=1}^{m-1} \left( \sum_{r=1}^v (\alpha_r)^{k\mu} \left( \frac{P_r}{p_r} \right)^{(\mu-1)(k-1)} \frac{|t_r|^k}{r X_r^{k-1}} \right) (v |\Delta \lambda_v|) + O(1) (m |\Delta \lambda_m|) \sum_{r=1}^m (\alpha_r)^{k\mu} \left( \frac{P_r}{p_r} \right)^{(\mu-1)(k-1)} \\ &= O(1) \sum_{v=1}^{m-1} X_v \left( -|\Delta \lambda_v| + (v+1) |\Delta |\Delta \lambda_v|| \right) + O(1) m X_m |\Delta \lambda_m| \\ &= O(1). \end{aligned}$$

Finally,

$$\sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{\mu(k-1)} |T_{n,4}|^k$$

$$\begin{aligned}
&= \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{\mu(k-1)} \left| \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} p_v t_v \frac{\lambda_{v+1}}{v} \right|^k \\
&= O(1) \sum_{n=1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{1}{P_{n-1}^k} \sum_{v=1}^{n-1} \frac{p_v}{v} |t_v|^k |\lambda_v|^k \left( \sum_{v=1}^{n-1} \frac{p_v}{v} \right)^{k-1} \\
&= O(1) \sum_{v=1}^m \frac{p_v}{v} |t_v|^k |\lambda_v|^k \sum_{n=v+1}^m (\alpha_n)^{k\mu} \left( \frac{P_n}{p_n} \right)^{(\mu-1)(k-1)-1} \frac{1}{P_{n-1}} \\
&= O(1) \sum_{v=1}^m (\alpha_v)^{k\mu} \left( \frac{P_v}{p_v} \right)^{(\mu-1)(k-1)} \frac{|t_v|^k}{v X_v^{k-1}} (X_v |\lambda_v|)^{k-1} |\lambda_v| \\
&= O(1) \sum_{v=1}^{m-1} \left\{ \sum_{r=1}^v (\alpha_r)^{k\mu} \left( \frac{P_r}{p_r} \right)^{(\mu-1)(k-1)} \frac{|t_r|^k}{r X_r^{k-1}} \right\} |\Delta \lambda_v| + O(1) \sum_{r=1}^m (\alpha_r)^{k\mu} \left( \frac{P_r}{p_r} \right)^{(\mu-1)(k-1)} \frac{|t_r|^k}{r X_r^{k-1}} \\
&= O(1) \sum_{v=1}^{m-1} X_v |\Delta \lambda_v| + O(1) m X_m |\Delta \lambda_m| \\
&= O(1).
\end{aligned}$$

This completes the proof of the theorem.

#### 6. Corollaries:

##### Corollary 6.1:

Putting  $\mu = 1$  in the conditions of our theorem, the series  $\sum a_n \lambda_n$  is summable

$$\left| \overline{N}, p_n, \alpha_n(\delta) \right|_k, \quad k \geq 1, \delta \geq 0.$$

##### Corollary 6.2:

Putting  $\mu = 1$  and  $\alpha_n(\delta) = \left( \frac{P_n}{p_n} \right)^\delta$  in the conditions of our theorem, the series  $\sum a_n \lambda_n$  is

$$\text{summable } \left| \overline{N}, p_n, \delta \right|_k, \quad k \geq 1, \delta \geq 0.$$

##### Corollary 6.3:

Putting  $\mu = 1$  and  $\alpha_n(\delta) = \left( \frac{P_n}{p_n} \right)^\delta$  and  $\delta = 0$  in the conditions of our theorem, the series  $\sum a_n \lambda_n$  is

summable  $\left| \overline{N}, p_n \right|_k, \quad k \geq 1.$

## 7. Conclusion

The present theorem generalizes the theorem of Sulaiman<sup>6</sup> and Paikray<sup>4</sup>.

## Acknowledgement

The authors are thankful to the authorities of KIIT University and National Institute of Science and Technology for their continuous support to prepare this article.

## References

1. Bor, H., "A New factor theorem on absolute Riesz summability Miskole Mathematical Notes, *16*, 57-63 (2015).
2. Bor, H., and Debnath, L., "Quasi -- power increasing sequences" International journal of Mathematics and Mathematical Sciences, 2004(44), 2371-2376 (2004).
3. Leinder, L., "A recent note on absolute Riesz summability factors" Journal of Inequalities in Pure and Applied Mathematics, 7(2), Aarticle-44 (2006).
4. Paikray, S.K., Jati, R.K., Misra, U.K. and Sahoo, N.C., "Absolute indexed summability factor of an infinite Series Using Quasi-F-Power Increasing Sequences", Engg. Mathematics letters, 2(1), 56-66 (2013).
5. Sulaiman, W.T., "Extension on absolute summability factors of infinite series", *Journal of Mathematical Analysis and Applications*, 322(2), 1224-1230 (2006).
6. Sulaiman, W.T., "A recent note on absolute absolute Riesz summability factors of an infinite series", *Journal of Applied Functional Analysis*, 7(4), 381-387 (2012).